LB @yeshons
Solupons

#/

ax
2 /+(X3)°

4)S  ( Ao fa—()

acton x*+ drctamy” = %

2'j&l’ .:0

[ty

L/éﬁ%t()'/" //267‘&(;3 &]

ﬂn[ﬂcfﬂﬂ(:_)fﬂ/“ﬁ‘”(?)] A

) /= ton (0actont) Fon( trctony®)
! L
= 2 14 =7 = E’*JL: - Z/;L
T T s s gt
7%




#2
a)  (0S2p = 2(0s 4 -/
(os -x = locHy~1

21,_ 4
(o™X =3 ( /+0sx)

(oij-+m DEX LT
E 2.

b logs 1= S Gt
(Sn jx =j‘1) /—-';osx : D LXLZ

§/'”ZI)(—' O /= (0SK
C) .

. Z
hence > (2' m J—:_/;sx ) o x
o]

N E

) SL /ff[(os(z'x)‘rfm(z'X)jﬁ/X_

z

*2’[)2[9/12 _[Osé(‘]l

) ZUZ[’C‘“““(OST\OT/] } ]



]é(): é_ﬁ
Z
/
q' G) = %[-(//)1) /-—//,1
A% Vs

4x=/

(e. &) .
- Dﬁf}\@e@’

A

1 ~Z)yr? -y - A ~ Xy 24k
. f(j):(i)(lj _'(/—//”‘)'QX - X ZX‘I-:_X/X = -'—g—z—'s";'
V g
_ "37"2/])( _ ‘7>//)X:§ = X e
- 5 =0

7[((3{): (%) 2

2 3
@g G-i T XC

Miw

Wo;,,f 7( | ( @ 33/ oeé},,_) 5
Z/;][]Q)Cﬂﬂ .

d. 7/(;): %:o X=/, %to.

T/ waﬁon 7\ 7he fﬁoxgcwf.' =X~/

© M 7 fe[(lﬂ)-—’%’ijdx {z’f-x-siﬂn*)i]!@:%le
I :



